User's Guide

ergotron

SlatWall Clamp System

:\/K\
7 T, o |©
@ ) 2 o
9) 0 )
%) o ° i
Q
9) ) > et
) D
o )
o )
-

COMPONENTS

A Upper Clamp
B Lower Clamp
C Slat Wall Bracket

6‘\@@@@

NOTE: lllustrations depict typical
product.Yours may vary slightly.

FASTENERS
a #10-24 Acorn Nut
b 1/4-20 x 1" Phillips Pan Head Screw b M)

TOOLS REQUIRED

3/8" Open end wrench (customer supplied)

www.ergotron.com | USA: 1-800-888-8458 | Europe: +31 (0)33-4545 600 | China: 400-120-3051 | Japan: japansupport@ergotron.com

888-60-079-00 rev. C - 08/19



Hang Upper Clamp to edge of Slat Wall. STEP

STEP

NOTE:

Wall Bracket slides
beneath tabs of
Lower Clamp.

Mount Slat Wall Bracket/Lower Clamp STEP
assembly to Upper Clamp. A 3

Thread Acorn Nuts onto Upper Clamp pins.

NOTE: For maximum clamp
strength, place upper and lower
clamps as far apart vertically as
possible on the slat wall .

2of 4 888-60-079-00 rev. C « 08/19



Using a 3/8" wrench, tighten Acorn Nuts. STEP

Using a Phillips screwdriver with provided STEP
screws, secure Slat Wall Bracket to Lower
Clamp.

Sl

888-60-079-00 rev. C « 08/19 30of4



Mounting Patterns

100 Series Direct Mount Pivot
E 200 Series Vertical Mount Bracket
400 Series Flat Panel Monitor Arm with Fixed Mount

m 400 Series Flat Panel Monitor Arm with Rotate Mount

_ % ——1
e —
0 ) ]
mp O o)
o= =5 o 4 : and
|
P o 2 ! o
) o [l==N and=
H = ]
] —p 0 ) 1 __'
L o 0 4=
0 9)
Replacement Parts
Part Number Description
696-569 Mounting Hardware Kit*

* Kit Includes: two #10-24 Acorn Nuts and two 1/4-20 x 1" Phillips Pan Head Screws

ergotronr

For the latest User Installation Guide please visit: www.ergotron.com

For Warranty visit: www.ergotron.com/warranty
For Service visit: www.ergotron.com
For local customer care phone numbers visit: http:/contact.ergotron.com

www.ergotron.com | USA: 1-800-888-8458 | Europe: +31 (0)33-4545600 | China: 400-120-3051 | Japan: japansupport@ergotron.com

© 2000 Ergotron, Inc. All rights reserved.

While Ergotron, Inc. makes every effort to provide accurate and complete information on the installation and use of its products, it will not be held liable for any editorial errors or omissions (including those
made in the process of translation from English to another language), or for incidental, special or consequential damages of any nature resulting from furnishing this instruction and performance of
equipment in connection with this instruction. Ergotron, Inc. reserves the right to make changes in the product design and/or product documentation without notification to its users. For the most current
product information, or to know if this document is available in languages other than those herein, please contact Ergotron. No part of this publication may be reproduced, stored in a retrieval system, or
transmitted in any form or by any means, electronic, mechanical, photocopying, recording or otherwise without the prior written consent of Ergotron, Inc,, 1181 Trapp Road, Eagan, Minnesota, 55121, USA
Patents Pending and Patented U.S.& Foreign. Ergotron is a registered trademark of Ergotron, Inc.

4 of 4 888-60-079-00 rev. C » 08/19



